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= 9,597,671
HoI2 A3 7,583,669 8,298,716 NT15,047
= 240,500
o= 51,860
= 7,291,309
HA HYH(SHAIZANLEELESAH) 896,089 864,856 31,233
= 240,500
o 51,860
= 603,729
HIIE Mel X 294,430 275,380 19,050
201 et 9| 41,280 47,280 A 6,000
01 AP 2t 2] d| 38,180 44,180 A6,000
Ogtt4f2Y| 20,000
— MY I Bt & SYHED| & X QLY E
A X 100,000 *50 A~ «10M S ™ 5,000
—ME=EE IS EE2=2
2,000& x5, 0000H 10,000
—HASAE FMEE 2 3,000
— T2l dALADES 200,000& = 107K 2,000
OO0l WEAIE SHEX 7L 2,000
OHMX DEtAIYE AEX F 1,500
OSH(HIISSx) 8,000& x10Y 30 2,400
OMEEE 25 2 Xd| 800,000& x153] 12,000
OSAERHIIS 1B AV a4
70,000& »4H 280
02 2%l 3,100 3,100 0
OHJI28 3l 2,500
SYHEI| 9400t M2 600
206 M = dl 163, 150 152,100 11,050
01 X2 4| 163, 150 152,100 11,050
OMdHIIsE HH 100,000
OUHEHII= AEIH HE 400 +7,5000H4 3,000
SAMAZSFRHIIE E2ES H&
250,000 508+ A 12,500
OSAZ2HIIE E2L0201(¥A8 12021H)
40,000 « 1004 4,000
OSASE8HIIE2 daL&HEl| (A2 602IH)
32,000 4004 12,800
OHEZS HEXx=HE 2 60,000& 1004 6,000
OMNeEEs 2eld8t] M 250,000 =404 10,000
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35,000 70 2,450
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207 SO0 £ 30,000 0 30,000
01 4| 30,000 0 30,000
OMEMHIIEZE =28 2HHAH EIEH ZE
2 30,000
401 A& HI L 204 HI 60,000 76,000 A 16,000
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301 et A= 45,000 45,000 0
12 J|EIE &2 45,000 45,000 0
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OR4M+H MEEE 242 50& *240,000kg 12,000
Oy & BA43
(1,6002 %6,400kg)+(3,680 «750kg) 13,000
HII2 22 8% 146,230 203,333 A57,103
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o 7,200
= 16,800
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= 52,670
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= 8,000
o= 8,000
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= 8,000
& 8,000
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ol&E Gt MDDl HSALY 321,429 197,143 124,286
= 225,000
= 96,429
101 2124 H] 90,000 52,000 38,000
= 63,000
= 27,000
04 JI2ZtHIZ22NEE S 90,000 52,000 38,000
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= 63,000
= 27,000
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—MgoIsE 7Y 1,000& *2,0000H 2,000
= 1,400
s 600
—EYHSI LA etE S 4X
100,000 *200H 2 2,000
= 1,400
s 600
—EAEF 7Y 400,000& %103l 4,000
= 2,800
s 1,200
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Oot7 2SMY I A=Kl (700&) 213,429
= 149,400
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= 7,500
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401 AIEHIZ 28I 25,000 80,000 55,000
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01 A& Hl 25,000 80,000 A55,000
OZ=sHbe &dotz 5,000,000 *5H 2 25,000
= 7,500
e 17,500
HIlg M2lAE G (BZBI=AESLEIA) 6,687,580 7,433,860 AT46,280
HIIZSX2IAE 22| 992,170 1,539,060 A 546,890
201 L2l 527,670 581,260 53,590
01 At 22l 89,470 100,410 A 10,940
Oget=gHl 89,470
—HEs FEINEINES)
360,000& *123] *30H 2 12,960
—HES RN )
360,000 *123] 10 & 4,320
— X5t (2401 & =) 190, 000! *43| x4 2 3,040
—HEHE EL2FT AAM
4,400,000 *20H 2= 8,800
— & HEItA S22 A
400,000& *2J4 2~ 800
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25,000,000& x12& 300,000
OAE ZHI S X 110,000
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15,000,000 * 10 A 15,000
- HESBLET 24
10,000,000 * 10 A 10,000
— &5+ HM2AE 234l
5,000,000& 14 & 5,000
— 2428 HMeAE KXl
10,000,000& = 104 2 10,000
—HEHJIS HEEH LKA 3,000
—HEHIES MEFES3  15&+4,000,000kg 60,000
—ot&Eot* MDD HERES
10& x700,000kg 7,000
206 TH 2 H 6,100 5,800 300
01 = bl 6,100 5,800 300
O &A% E 600,000& x65 3,600
O & JtAZH2 100,000& » 104 1,000
OHHEXNE 4= - AHMHM , 22 U=
100,000 » 15 A 1,500
301 LEEAZ 8,400 0 8,400
09 HALAHIX RS 8,400 0 8,400
O&T HIIS8HMelAlE A& (M7 &K =9

=0l) 70,000& *30H 43 8,400
401 AIEHIZ 2 I 450,000 900,000 450,000
01 A& Hl 450,000 900,000 A 450,000
OUEHII2 fIEHel(1,000) 300,000
OSAMESXelAlE ==4Hl Hd S A 100,000
OZFEHelANE NFE &4 E =AML N
& S A 50,000
Faxg UM 2 sX22 327,880 214,800 113,080
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201 Le-2d| 212,880 214,800 21,920
02 =224l 212,880 214,800 A 1,920
OFAXE RF 470,0003 x17CH*12& 95,880
OFAXE RA E= 470,000& x17CH+128 95,880
OEEE 24 )% 620,000& x2CH =128 14,880
OZ2=2H &% 520,000& 123 6,240
405 Xt&tE SHI 115,000 0 115,000
01 XA = ZFH SHI 115,000 0 115,000
Ok®: dAaXg A 115,000, 0002 = 1CH 115,000
HIIZ XMClAlE Izt E 832,330 1,878,000 A 1,045,670
307 glz2tol & 832,330 1,878,000 A 1,045,670
05 RIZHRI & 3 832,330 1,878,000 A 1,045,670
O8aERrHIZE =& 2t & HMelAE 23
el ?IE 832,330
MEHIIS 29 22AE A 634,000 3,802,000 A 3,168,000
308 MXIEHMSOIH 634,000 2,200,000 A 1,566,000
07 IXNHMARS = 634,000 2,200,000 A 1,566,000
OX2AE 293 ol SE A HI 634,000
SASFHIIS M2Il N3 51,200 0 51,200
402 BI2FX=01 M 51,200 0 51,200
01 2I2E 2 AL B (KM ) 51,200 0 51,200
OSASRHIIE KNIl Il K& (40 A-At3
SXNALE, LdUASE 2, ZSFH) 51,200
HIISHM2AIE (&) 3,850,000 0 3,850,000
303 L&t 3 50,000 0 50,000
01 243 50,000 0 50,000
O4l7 HIIS™MelANE 2R HdF0ts 24 50,000
702 JISEES 3,800,000 0 3,800,000
(RWIE=RSE-—3= 3,800,000 0 3,800,000
Od4+ HII8 MelAld =8Xd XS 3,000,000
O™ HIIZ2 MelAld =X FeXAS
100,000,000& =80 0Ot= 800,000
HE2IZH (B2 =) 2,306,362 2,178,775 127,587
OlHSHY|(SHIIZAILEELTH) 2,306,362 2,178,775 127,587
AEgze A 2A] 2,306,362 2,178,775 127,587
101 124 dl 2,306,362 2,178,775 127,587
03 RIAHAZZ2TE = 1,935,066 1,919,775 15,291
oJlz2 2,700,000& *x29H 123 939,600
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—&d2Y 3,000,000 x29H x23| *50% 87,000
— Mol 3,000,000 299 *53] *50% 217,500
O8dH+Y 142,680
—Its4 80,000& x29H x12& 27,840
—ExRxH 120,000& 29 x12& 41,760
— g4 60,000& 29 x12& 20,880
— &&= 100,000& x29 x12& 34,800
—AIEBAELE 50,0003 %29 x12& 17,400
ONESHIEE4+S(DSoM)
267,000& x5 43| 5,340
OxU2R2E 424,336
— o222 7,000 8 *x48A| 2t x 12 32,256
— 5422 120,000 x29H 8L x 12& 334,080
— xR aEIISH 100, 000& %292 x20 58,000
O=cl &Ml 104,400
— Y& S| 3,000, 000%29H *23] x60% 104,400
ool 200,000& »29H 5,800
o=l 8,410
— &5 50,000& *29H 23| 2,900
— &= 50,000& 29 x23| 2,900
— 2R 40,000& *29H 1,160
— OtM 29| 50,000& *29H 1,450
04 JIZtHI22XNSE S 371,296 259,000 112,296
oNgs4s8d JIZ2M2 22X B
68,7203 27U x7H « 128 155,857
oNgsdg JIZMIZX 401 B2
700,000 x12& 8,400
Odz)| MESHE JI2NHI 22X B
68,720& 94 x4H 25,839
Od=) MESHE 40 22
400,000 x3& 1,200
O8 JI2& A J|2tHl 1A 8| (38) 100,000
OMYIIHIESXE SHHN S22 QIAHH|(7
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ASHe T AP A 15,691,441 16,772,492 A 1,081,051
= 4,198,000
s 400,000
= 1,031,500
s 10,061,941
ot 2tel 15,691,441 16,772,492 A 1,081,051
= 4,198,000
s 400,000
< 1,031,500
s 10,061,941
St=20EH L RA(BZIZALEELE3IAH) 1,566,000 3,316,000 A 1,750,000
= 433,000
s 1,133,000
St=2t)1 dHl 2 =4 700,000 410,000 290,000
401 AIEHI L 201 700,000 410,000 290,000
01 A& HI 700,000 410,000 290,000
Odt=2 U (EFA ot=22 HEH) &
SA22(JE st=2Z 506km) 700,000
H2xt doll - sots22 FUIA 866,000 0 866,000
= 433,000
[ 433,000
401 Al HIZ 201 8] 866,000 0 866,000
= 433,000
e 433,000
01 A& HI 866,000 0 866,000
ORM2xt ot=2=2 HUXZA(ZZ 120km) 866,000
= 433,000
s 433,000
SHENSoH=SZH (A EZAMESLESA) 5,634,000 7,902,857 A2,268,857
= 3,765,000
< 935,500
s 933,500
2oo==E(=E) ot HE 2,018,000 1,634,286 383,714
= 1,372,000
< 323,000
[ia 323,000
401 AIEHI L 20 2,018,000 1,634,286 383,714
= 1,372,000
< 323,000
[ia 323,000
01 A& tl 2,017,000 1,234,286 782,714
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ot=Hel& 2,017,000
= 1,371,320
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g
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2,001,600
429,700
427,700
2,000

2,000
1,400
300
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2,032,857
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2,000

Mo R

484,000
200,000
142,000
142,000

4,035,714

A 3,551,714

401 AIEHIZ 2 I

MR

484,000
200,000
142,000
142,000

4,035,714

A 3,551,714

01 A& HI

OOIFDA +==2MBMAEHSE St 7 2l 2 (1004
o 200H0tE)

03 AlE 2 THHI
OAN&20bI

Mo H

MW

481,000

481,000
198,758
141,121
141,121
3,000
3,000
1,242
879
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4,035,714

A 3,554,714
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0
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0
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B slas 22
©el: sHENSH=ZFU(BZINZAEEESH) (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
401 AIEBI L 2CHEI 271,000 0 271,000
= 190,000
S 40,500
T 40,500
01 A& dl 271,000 0 271,000
OJlg & 2AEA 89 271,000
= 190,000
£ 40,500
[a 40,500
BAIIZAE 22 - 2 (I ANESLEIA) 8,491,441 5,553,635 2,937,806
= 400,000
= 96,000
s 7,995,441
SHI=ANE 23 3,395,891 2,050,479 1,345,412
101 @128l 386,771 388,599 N 1,828
04 DIt 22 XS+ 386,771 388,599 A 1,828
OZTot+HeAL 2oy 386,771
- ®IIH(123) 37,821
82 2 O OI23)
1,866,960 x7H 12 156,825
— ¥+ 160,000& »7& «12& 13,440
—fAg=d 50,0003 x7H «12& 4,200
- AA=g 20,0002 x6H 123 1,440
—Jlg=g 1,866,960& 7 43| 52,275
— wSH| 130,000& 7 122 10,920
— =4l 130,000& 7 x12& 10,920
—EE 30t 350,000& »7& %23 4,900
—JtE=H 460,000 x12& 5,520
—52422f=E 90,0003 x7H 20 12,600
—AN2AZ22+E 13,0003 x8H x22A| 2tx12& 27,456
— 83 ns0Hl 100,000 8 x5 4,000
—otd el 200,000 x8H +35 4,800
—ol=k 29g =& 20,0003 »8H 30 4,800
— ot HAZ2F =4l 8,000&+8F x50 3,200
—=UHA=RE=s 300,000,000& *4.5% 13,500
—ATESRES 300,000,000& *3.23% 9,690
SR =l = = 300,000,000& *1.5% 4,500
—AVRYEERES 9,561,000 *8.51% 814
— MW EESE 300,000,000& *1.05% 3,150
201 LEr2 Y| 1,210,380 1,078,860 131,520
01 At 22l bl 93,640 76,840 16,800
Oget=gH| 20,000
O=ZTMSE =& At 4,000,000% 274 A 8,000
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Sl BAINZAM Bel - 2Y(BAINZALSHE) CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OFZ&ATMSEH S ZH AL =Xl (20 A) 4,000
OgY 24 ++2(ESSH NN, 43
HIIEASOIAE S) 20,000
Odt=XHeld BoAAE AIE2E
180,000 & *7H A~ x 128 15,120
OdtE=HXdel & xHEF 2lAHl 700,000 x12& «30H 25,200
OEIZAE A58 A9 110,000& 123 1,320
02 =329l 1,116,740 1,002,020 114,720
03322 % MA 701,540
—ol=Xel&E JIe=2 50,000,000& ~12& 600,000
—otxXHeld AxEe3 300,000& «12& 3,600
— &Moot eItiE 2 800,000& »12& 9,600
— ol =& 3| 2,900,000& *13] 2,900
—SEZA 2HY AIZEE
70,000 78 A x12& 65,520
—=hXeE dIe=2 1,660,000& x12& 19,920
OZLZTNS SXI2el (2 A) 7,000,000& x12& 84,000
OFE+HM2l & HIISXHelbl
1,000,000& *12& 12,000
OA&ZHl SAldl 30,000
Obdlx=&d X &Kl 144 ,000& *1,800& 259,200
O&AIAIAE 101 HOI= 2]
2,500,000 x12& 30,000
206 M = Hl 134,040 120,720 13,320
01 X2t 134,040 120,720 13,320
Ox=ZAHA Al 2! 5,000,000& x12& 60,000
Odt=sdHA g€Hel 485 7¢
4,170,000 x12& 50,040
SOXHeAlE 45 2 200,000& * 120 24,000
401 A& HI L RO 1,634,700 432,300 1,202,400
01 A& HI 1,634,700 432,300 1,202,400
ORXStLEHEI MREX & B4 (MH20M/2
Z2=500H) (210,000 *209H )+( 110,000 *507H ) 9,700
O AX(gollg atEHdelE oIl &Xl) 680,000
OMEEHIA HOHEFAEX 27,000,000 104 A 270,000
Odt==XelAlE e 2l 120,000
O2aXcld HE=HI 25,000
OXAANE =FHH WH 1,500, 000& *20H4 30,000
Obdt==HelAlE JIsdSHZ200 s AENA 500,000
— ZMote=Hdeld 2 10004 500,000
405 XHo&HFE S HI 30,000 30,000 0
01 HatL S =3 S| 30,000 30,000 0
O£Z&2HEH S WA 20,000
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ObdtEHel & 2LHE A 372Y 10,000
SAHAIZANE 29 196,350 337,156 A 140,806
207 ) | 196,350 337,156 A 140,806
01 g E Y| 196,350 337,156 A 140,806
OZ2Z20tE=HelAlE JlsXc 196,350
SHIZAILE FER2A 2,340,000 2,000,000 340,000
307 QI2t0| ™ 2,340,000 2,000,000 340,000
05 QIZtREZ 2,340,000 2,000,000 340,000
OZ230t=TAd 22liid =4 2,340,000
ESHIIEZAE A 300,000 300,000 0
401 A& HI L 204 HI 300,000 300,000 0
01 Al&H| 300,000 300,000 0
OdlE=Hel& =SFAE A 300,000
EYHA MESIEERA 800,000 866,000 A 66,000
Fag 400,000
& 96,000
= 304,000
401 AlEHIZL 2 0HY| 800,000 866,000 A 66,000
g 400,000
& 96,000
= 304,000
01 Al&H| 764,000 566,000 198,000
Ot MENH =S (2SS X 3,000m /L, AMEHSH
H=22 0.57km) 764,000
Fag 382,000
& 91,680
= 290,320
02 2eldl 36,000 300,000 A 264,000
OHE A 22 36,000
g 18,000
= 4,320
= 13,680
olx=CAHl JI=2HE BHA 1,458,000 0 1,458,000
401 Al HI L 2 0HHI 1,458,000 0 1,458,000
01 Al& H| 1,458,000 0 1,458,000
ol ot & JI=2HE € 2 Mol &
clHE (FE o9) HA 1,458,000
s HE4E AL 1,200 0 1,200
402 SI2vXHE0| & 1,200 0 1,200
03 QI2t/EFAFSE HI 1,200 0 1,200
O2hs+H AU =2 12,000,000& *10% 1,200




